In the similar way as %   is      x/X 100 = % 
You can define ppt, ppm, ppb etc.

One part per million is 

1 ppm =  x/X * 10^6
for solutions x in X mass/mass or (w/w).

In chemistry 1ppm = 1 g/mL  or   ppm = 1mg/L .

Note here we have different units, mass/ volume  !!!!

How is that possible when we know that percentages and all other fractions must have the same units to cancel each other.

Answer : we use density of water , the most common solvent to “convert” volume to mass:   

 density (H2O) = mass/volume = 1.00 g/cm 3 (for H2O) = 1.00 g/mL (for H2O)

, since 1cm 3  = 1 mL 

So,  1.00  ppm = 1.00  g/mL  = 1.00 g / ( 1.00 g/mL* mL) =>> 1.00 g/g = 

=1.00 10-6 g/g *  106  ppm  =1.00 ppm

